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The questions are of equal value

Answer any five questions.

“Corruption can exit.only-if there is some one
willing to corrupt and capable of corrupting”.
Examine in the light of-above observation the part
Industrial ‘and’ Commercial classes play in’
contemporary India making the public agencies .
corrupt. o .
TS Or-
W:im/at punitive and administrative measures would
ybu (preseribe to deal with Socio-Economic
0 m,gqcre 7 Map out your answer with the light of
he remnmcndamn of Law Commission.

Contd.



3.

()

Discuss important provisions of Indiari Penal Code; - -+

Santaanam Comumittee Report.
Or

Aflempt on exhaustive enumeration of the 29th
Report of the Law Cqmmission. ‘ '

‘What punitive and reformative measures would you
like to suggest to deal with the menace of Socio-

Economic Crimes ? Explain the Powers and.
Limitations of it in bringing social reforms in the
country through creative Power of Judicial
activitism.

Or

Discuss fully how far “mens rea’ is relevant to be
considered for liability in case of sale of
adulterated or misbranded articles of food. Explain
the liability of a body coiporate, o

y
Explain the majn reasons in passing a Socia}"’/
Legislation like Dowry Prohibition Act. 1961. I
there any similar provision in {he Indian Penal
Cade, 18607 Discuss with the help of leading case.

- Give reasons for Lllmabated.ascendancﬂ' of crire

1860, Do you think that thé IPC is adequate to take. . against women and girl child in the country. Discuss
~ care of latest economic offences like - Jeevan "the Legislative measures in the country. Discuss
-+ . Surckha and Sarada Group Or ' What type of Law is ~ the Legislative measures to- control such-menace
e  required to-deal with such ‘economic .offences. " in the Indian S‘ociiéty.' NN\ -
4, Attempt an exhaustive enumeration of the Discuss the salient features of Natiosal SCCLI;:ity |

Act. What according to your assessment are the ~
shortcomings of the Act.?
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